= H
N = 0 & AF S & Al A
PTG = 33 LBts|H FHMDED
SN ZHRED
M QIMAN s HY
ool NAZH A st EERE
SA - HH SR (B) - NRAR - BAS 01l aro pIEL! HIBS2
ANDED 25,139,491 24,064,657 1,074,834
= 2,303,784 2,321,905 71,879
= 1,606,918 1,611,918 A5,000
Il 75,340 75,340 0
= 2,984,337 2,886,544 97,793
= 13,279, 112 12,368,950 910, 162
7 4,800,000 4,800,000 0
DIMZAH Ees B 5,079,936 5,015,708 64,208
= 1,884,960 1,884,960 0
< 381,300 381,300 0
= 2,813,676 0,749,448 64,208
XM A st 5,079,936 5,015,708 64,208
= 1,884,960 1,884,960 0
= 381,300 381,300 0
= 2,813,676 2,749,448 64,208
HEAS ZUMLALLY 211,210 239,750 28,540
201 LBt eyl 194,060 222600 28,540
01 AL 2l 86,460 87,400 AG40
OFSAR ZUITL 7Y 4,960 3,000 1,960
OMEAE A= 7,000 9,900 A2.900
02 Zzeo 107,600 135,200 27,600
OFEAN BRIy 80,000 104,000 A24.000
OFSANE IFEZ U HUNAES 5,000 8,600 A3.600
HEANT AL 125,845 128,077 A2.230
401 AlEH 2 20| 125,845 128,077 2230
01 A& Y| 125,845 128,077 2232
O 2= THeHAIZ LED E A 13,949 15,370 A1,421
OAMAIE 22T 04 53,452 52,207 1,045
O UMAIE KZELZA 25,355 27,000 A1.645
O BEAR HSEM 5,137 5,000 137
O BEAR K22 9,427 10,000 A573
OUAAR BIAIE S5 (2HA) 8,107 8,500 393
OUAMAIR HAZZ ZA 10,418 10,000 418
MEANT ASSIEHFEALR) 570,200 475,200 95,000
< 208,338 208,338 0
= 361,862 266,862 95,000
401 AlEH 2 20| 570,200 475,200 95,000
< 208,338 208,338 0
= 361,862 266,862 95,000
01 A&l 570,200 475,200 95,000
OUMAIE AL S Hat AN 570,200 475,200 95,000
< 208,338 208,338 0
= 361,862 266,862 95,000
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2A:

B

ool Axiel BE (el @e
SN - SR(E) - MRAY - BES 04l &k ot p[E-F" HRnE2

DEOHE AMAHA 1,013,790 1,012,309 1,481

= 306, 182 307,103 2921

s 91,768 96,768 A5,000

< 213,588 209,118 4,470

o 402,252 399,320 2,932

2l =& 1,013,790 1,012,309 1,481

= 306,182 307,103 2921

s 91,768 96,768 25,000

T 213,588 209,118 4,470

o 402,252 399,320 2,932

OrS01g S4X& 60,000 70,000 210,000

s 30,000 35,000 25,000

& 9,000 10,500 A 1,500

i 21,000 24,500 23,500

307 IZ2t0I A 60,000 70,000 A 10,000

s 30,000 35,000 25,000

< 9,000 10,500 21,500

s 21,000 24,500 A 3,500

02 QB AAIHE X 60,000 70,000 210,000

Ot s4dAg 60,000 70,000 A 10,000

s 30,000 35,000 25,000

== 9,000 10,500 21,500

s 21,000 24,500 A 3,500

NAx=Ed dEdTel A 143,480 143,000 480

= 71,500 71,500 0

< 11,500 11,500 0

o 60,480 60,000 480

307 2I2+0I A 143,480 143,000 480

= 71,500 71,500 0

& 11,500 11,500 0

i 60,480 60,000 480

02 QIHEAAIHE X 143,480 143,000 480

OANHUA 43 FFgXitel X 27,480 27,000 480

= 13,500 13,500 0

& 2,220 2,220 0

i 11,760 11,280 480

FAXAE= K2AS 39,600 27,576 12,024

< 19,800 13,788 6,012

i 19,800 13,788 6,012

301 L2 Z 39,600 27,576 12,024

T 19,800 13,788 6,012

o 19,800 13,788 6,012

12 JIEt2 &3 39,600 27,576 12,024

OFEXNSGEZ XA 39,600 27,576 12,024

= 19,800 13,788 6,012

i 19,800 13,788 6,012

N ZelA LRel At 245,202 246,225 A 1,023
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M ZHnSu
XN DROLE

ool Axiel BE (el @e
SN BB S9(E) - NRAY - BYS arol p[EL! HREZ

= 220,682 221,603 A921

s 9,808 9,850 N2

s 14,712 14,772 AB0

101 124 H| 239,356 235,356 4,000

= 215,420 211,821 3,599

< 9,574 9,415 159

i 14,362 14,120 242

04 JItHIZ22 RS2+ 239,356 235,356 4,000

Osld2z(NLagH S ALRel)A 239,356 235,356 4,000

= 215,420 211,821 3,599

< 9,574 9,415 159

i 14,362 14,120 242

206 H =4I 4,823 9,846 A5,023

= 4,341 8,861 24,520

= 193 394 A 201

i 289 591 A 302

01 MZHl 4,823 9,846 A5,023

O3 Y2z (NEeAS AL Xtel)At 4,823 9,846 A5,023

= 4,341 8,861 24,520

= 193 394 A 201

i 289 591 A 302

SN HAHA 2= 5,999,590 5,516,590 483,000

< 244,232 244,232 0

i 955,358 472,358 483,000

T 4,800,000 4,800,000 0

SA=X el=Zet e 5,999,590 5,516,590 483,000

= 244,232 244,232 0

fias 955,358 472,358 483,000

T 4,800,000 4,800,000 0

s3EX &l 820,000 320,000 500,000

401 Al HIZL 20| 820,000 320,000 500,000

01 Al&HI 820,000 320,000 500,000

OLL+H2=s3HA X+ 2 T2 I3A 800,000 300,000 500,000

SAIEELTUs SMHAR 23,000 40,000 A17,000

307 2I12+0I A 23,000 40,000 A17,000

08 OIXIEX S 23,000 40,000 217,000

O sAJ1Y s4i=s 0IXH2d 23,000 40,000 A 17,000

SMNHA E8MAH 25 12,001,551 11,771,773 229,778

= 105,500 32,700 72,800

s 1,436,400 1,436,400 0

J| 75,340 75,340 0

= 2,091,776 1,998,453 93,323

= 8,292,535 8,228,880 63,655

Suws FLEl 9,458,051 9,228,273 229,778

= 105,500 32,700 72,800

s 1,436,400 1,436,400 0
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SH: BHDSD
I‘IiH: J_J’_%A—H:Hﬁ
ool gEnsE F

SN -2 HRA(AH) - g-84 Ol & OH Y H HusZ
Il 75,340 75,340 0
T 2,001,776 1,998,453 93,323
fias 5,749,035 5,685,380 63,655
HAMHE X2 ALY 872,468 686,490 185,978
< 265,807 172,484 93,323
[ia 606,661 514,006 92,655
307 glztol & 872,468 686,490 185,978
< 265,807 172,484 93,323
i 606,661 514,006 92,655
09 2+g8HELS 872,468 686,490 185,978
OMUsEB A X 92,655 0 92,655

OAMUsEB A& bS]

) 93,323 0 93,323
S 93,323 0 93,323
NE=F A&=ZE = 51,000 80,000 A29,000
301 LEEN S 51,000 80,000 229,000
2IIEtEd= 51,000 80,000 29,000
O==2l =% 51,000 80,000 229,000
DZLHY 2 23 22,500 13,700 8,800
= 22,500 13,700 8,800
301 LEIEN S 22,500 13,700 8,800
= 22,500 13,700 8,800
12 JIEt2 &= 22,500 13,700 8,800
O EHERAI DI A 8,800 0 8,800
= 8,800 0 8,800
HMIHAIIAL ASHE K 24,800 11,200 13,600
= 24,800 11,200 13,600
301 LEEN S 24,800 11,200 13,600
= 24,800 11,200 13,600
R2IIEtE4= 24,800 11,200 13,600
OTMBIAIIAL & 24,800 11,200 13,600
= 24,800 11,200 13,600
S HHADIAL SHAIXT A 50,400 0 50,400
= 50,400 0 50,400
301 LEIEN S 50,400 0 50,400
= 50,400 0 50,400
12 JIEt2 4= 50,400 0 50,400
O &HAIIM 50,400 0 50,400
= 50,400 0 50,400
2s(ZHLsSH) 374,522 78,175 296,347
TSN 374,522 78,175 296,347
22Xz gt 341,078 36,175 304,903
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2A: MR
=
©e: BEI

SA - EB BB - MEAY - BES Ol At SIEL" @S2
802 BtEt=D|Et 341,078 36,175 304,903
01 =1Ex36rE3 258,878 22,069 236,809
020208 = X9 3=sH LXAelArY =HIEXS
Ela=1 1,732 0 1,732
020208 Sgnsst 284 =4l OlAF Bt 26 0 26
020208 DZ2LH9 RGN EUHS SEXNIAANS
SHIEXZ Bt 17 0 17
02020 D2ULH19= S XL X2l 2HIE
232 gt 34,050 0 34,050
02020 DZLH9=5 ST X2 AIY =HIE
X3 Bty 200,983 0 200,983
02020 ALZIEIISE THE XA =HIEXZS
Gla=1 1 0 1
02 Al - EHIEXS3EteZ 82,200 14,106 68,094
02020 SHAASBO IEL2T KJAAIY &
HEx=Z egte 8,439 0 8,439
020208 M=ESHEAUWLMSSMAJAME EHI2
A= e 5,047 0 5,047
02020 sl Y22 X AS (FE3X) THIEX
=2 e 24,522 0 24,522
020208 M=SHEEXNAEZZ XJFAY ZHIE=X
2 ”pur 7 0 7
020194 & 20204 A=Y FHAKJAAE ZHI
2XZ ety 12,325 0 12,325
020208 d=d HEIFHAXNJAIY THIEXZS
Ela=1 8,208 0 8,208
020208 &= XG9S sH LXAelAY SHIEES
Gld=1 532 0 532
OHEAAMNAZE AMZARNASXNAIE SHEXZ
i1 7,518 0 7,518
02020 A3 EIISE HE XA SHIEES
Gld=1 1 0 1
02020 Ot271Y9 TOESXNJAIYE SHIEXE
= 2ty 28 0 28
020208 D298 NFNEUS S SEXRA
AN SHIEZZ BtE 1,467 0 1,467
P& H2=s3EHX ZEAMY L= At 33,444 42,000 A8,556
311 Xt =0 Ataet 33,444 42,000 A8,556
03 SAYXTIXL S0 RHatst 33,444 42,000 8,556
O+ M2=s=HXl ZEAIY X2 Ol AtAHE 33,444 42,000 28,556
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